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Homework
 

KEY
A. Dave has 9 nickels.  Maria has 5 dimes.  

1. What is the total value of Dave’s nickels?  Show your thinking.    45 cents
2. What is the total value of Maria’s dimes?  Show your thinking.
45 cents
B. Will wants to buy a cookie that costs 80 cents.

1. If Will pays for the cookies using dimes, how many dimes does he need?  Show your thinking.

8 dimes
2. Challenge problem: Can Will pay for the cookies using only quarters?  Show your thinking.

No, 3 quarters = 75 cents and 4 quarters = 100 cents.
